TEH18EE METHRIZNRTYIMR—ILAE FEI—JTHER BT

AJ0OvH B7AOvH

i 63 - 13 s . 47 - 6 —
RMIRPEHA o1 o _ 5 30 AMAR N %75 o o 18 {THE

. 67 — 2 - 51 - 0
MRBHER o1 L, _ o 12 AKRB&E| Nk 89 o o 2 iy 1B

HRE 52 02 18 JAmte | TEE 54 o S moE

- 6 30 - 15
covh D7AwH
e s 32 - 6 e 19 - 9 s
a2 53 — 6 = e . 21 - 15
BIRE 79 o _,, 30 HEHF| T8 59 45 _ oo 40 HWIE

sRA 82 0”9 2 @mM | Ema o4 5" 33 #HEE

15 -

34 19 -

14 HEHH

© Ol

20 - 0 y

MEHH 46 o0 _ 0 25 & W

EZOvH F20v5
AR a4 20707 38 — B | BR& 50 5500 32 BAE
53 - 5 2 34 - 16 =
AR 102 ;5 - 2 13 # ERE 65 3 _, 26 EX
—® 106 - 22 tA | BAE 46 L0322 BA
G20vH HZ Ov)
2 — 18 - 17 22 - 10 "
ga= 32 | _ 4, 31 MER ¥ H 48 e _ 43 28 KR
3 - 2
2 — 15 - 14 - 36 - 7 .
BBZ 40 g _,, 38 AR B H 68 5, _ o 13 B&BWE
4 - 4
2 -0

MNER 57 ST 0% 34 R | kR os8 20”5 30 g




FR18EE MEMRI=/NRT7YMR—LRE FPRI)-THRE %X F

AZOvy B7AvY c7avy D7 AvY

= a 2078 3 maz | gm 55 D0 2 mma | Akt o B T8 o wmesk| ERa o D0 20 wom
= 76 8710 26 ma—|gm@ 4 3073 15 mwE | Akt s "% 20 & |HRa 5 7% 12 mE@E
= 0 20C % 14 wEE | ®E e 33 13 @mEm|Akk 77 T2 u maesz [ER& 4 2T * 19 ES
Bz 4 BT 4 ma- | ®Eme 4 5702 34 mam mEesk 58 20 C 7 11 &K [ER& u ST 1 NER
Bz 92 S04 1w mme | ®me 4o 270 18 mmm mmesk 66 S0 -5 6 @masZ [ w53 20 19 BB
Ba— 87 5 71 wWEe |mwm 20 "0 16 mmm| ek 2 2°1, 2 @az |wmm e 370 19 MER

FEE 33 "1 2 wmom

FEE 33 22710 a1 AER

@ a2 15°12 x» pEHE

OB 34 ;g B ‘155 21 IMNERE

EJOvY F7avy c7avy HZAavY

xR 42 W1 s ow [ ma 4w T8 o6 mum | sa 53 DT s mmm s o2 BC0 o ame
xR 55 272 16 mES ea 3 N3 o nkets| m sz 7% 0w | mam s T8 2 maE
xR 4 D79 0 —=m | ee s T3 o =z=w|s#s 50 2T 20 wmmzlza s ¥-3 o oz
xR 6 N0 5 EEas ea 54 TN o0 mam | w74 0070, 2 msE | A% 32 )11 20 &
t# 50 T3 12 mEm| RUE 3 J0 110 28 NAketa| mEE 75 5, 0 s k| Axm s 51T 19 &
t# 56 S0 % 12 & [mwm e 272 4 = w |@mmm 4 2570 33 wAME A% 52 278 10 zw
tH 7 3T 10 EEas mwE 47 20703 5 mam | mEm o5 5, T 1 2 maE |eka 20 2710 0 Az
EESH 38 00 12 —m (Akets o6 1T 12 20 = w | wm ez T2 3 wmmz|emae e 5 _ 12 18 mE
EBESH 53 50 _ 1 8 ERas|NAsE s 313 2 ma@ | w77 0T 10 28 AR | &bs 66 30 | |1 26 E W
' 42 21 20 Ras = w s BTN 3 ma | wmE e 05, 2 wmaE | mE o 3718 2 oz




5 F

77‘D\y7 ) ]
— ZZDJ:' 208v%) IJAayy
TREEHA 5 B -
oh 1 20 B EE@a 64 20 0t 35 ERa|A 42 207 1% 31w mlma— 4 21
24 - 12 14 - 13 20 - 19 33 /\Ak
HEEHA 56 B - =& 45 - 9 B
o as 31 = m[m@a 74 50~ 7 20 MEE[A %58 o0 0 23 maE|EA— 54 20 12 253
25 - 2 20 - 18 25 - 13 20 BRAR
mEHEHE 90 B 28 Zmalsws 58 - 4 p : -
a slm@e 99 007 oo mEm|A ges 0 10 27 Baz{Ea-s54 27 % 16k R
- - 12
gma 2N = mlEre e 3710 uiERE 20~ 10 2
) e # 33 207 0 32 macE[/ki 37 217 0 22 mam
# @61 o0 13 26 xMalERA 8 o0 O 12 mEmE -2
; P 37 10 %2 mmaz|Axik3s 07 10 20 X R
—_— = 21 - 19 _
= = 47 a5 ZEa|lnER 70 417 % 134 20 -
%6 — 2 A 13 {TETE[BEAS 20 i b _
. > a watE 38 20 20 34 Ba-|mmm 33 0~ 011k R
x F
77‘D\y7 ) ]
- 2227 470v% 70vY IJAayy
Z & 51 20 17 26 & #|Akik 33 157 10 30 mmm|w 32- 4
> ST g 30 52 52" .} 19® mx xso )7 1% 26 Bas
- 31 - 11 ]
E * 73 15 > 22_ 14 -
S a1 skt oae 227 0% s aly s 50 O 12 mwm|x ks 271 ;
2 : 35 6 N 06 — 16 27 /\ x
m &5 207 8 5 42 -9 45 % -
2 S 20w mAkkes 52 0 15 ERalmmessd0 207 10 34 m glERA 18 0 0 4% R
£ 430 P71 o5 mla 15 - 2 - _
D1, 25k m{mERE T 07 20 35 ammess 49 207 (2 g9 mummERa 2 57 0 15 0 %
£ #a4 307 3 4 & 30 - 8 - i
B o 41T m(EER 68 o0 o 17 EMAA|E E 38 L, 0 27 wess{Ba= 40 O 7 28 ERA
. 26 - 8 o
44 27 7 Mol & a8 1T 9 28 -
18 - 19 = 19 ¥MA4& 3 ; - 35 -
31— 10 sl mae 277 a3 mumlEa= 47 711 240\ %




X #® =
5 F
ERB)—7 O3M[of REB]
46 | 55
41 32 50 30
- = KA E INER RHE
A~H®D3-44L
25 | 52 i #& 0o — 0 wm
39 25 39 42 gRiLiE 52 — 16 + #
X 20 — 0 fin &
INANE Beam HEHH A GSNE
| i 0 — 20 BRI
58 | 69 £t #® 33 — 49 = K
Z _F
A~H®D 341
43 | 16 78 | 36
26 42 25 31 19 52 42 30
EE— EBE EI%L?': fTHTE pi:gile] H NKKB :‘B
69 | 26 38 | 16
A~H®DA4{
42 | 25 19 |79
9 56 24 53 31 35 70 6
%*E’: fin #& :’;_‘EI i sk 2 aME =W S
28 [ 50 48 | 10
A~HD5f1
INEIR 56 — 22 EMAJIr
Z 0 — 20 B oM
BAE 49 — 30 INEEJR
EMAJIr 20 - 0 Z W
B oM 41 — 62 A R




REES—TF A

[EF] 60|33
25 - 23
65|38 35 - 10 34|43
33 - 23 20 - 24
sol23 32 - 15 51| a6l3s 14 - 19 27|36
24 - 15 21 - 16 19 - 16 15 - 20
35 - 8 30 - 12 27 - 18 12 - 16
E = =B ¥ B NN B M\
h R a R "N
> #i & - & & M %
8 - 26 ‘ 2 - 15
‘ 26 - 25 17 - 18 ‘
34|51 16 - 10 39|33
13 - 12
29|22
[£cF]) 53]33
26 - 13
33|31 27 - 20 32|33
16 - 14 16 - 17
6725 17 - 17 38|49 agl33 16 - 16 40|39
2% - 8 13 - 3 27 - 13 2 - 2
ao- 17 25 - 18 21 - 20 16 - 18
T B ® X N E £ =
th i "N R
5 ®m R & A A
24 - 19 ‘ 6 - 26 ‘
‘ 15 - 28 15 - 18
39|47 12 - 29 21|44
10 - 15






